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Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.020 - 0.130 0.075 &
LA i 1.512 0.000 - 0.992 0.105 =
/L&, (HCI) 4,545 0.001 - 0.341 0.174 =
mIbE (HF) 0.306 0.006 - 0.060 0.026 s
— &b (SO2) 15.147 0.071 - 3.567 2.292 =
—4& kbR (CO) 7.578 0.001 - 0.081 0.043 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.633 - 5.525 1.773 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.057 - 0.088 0.075 &
LA 0.756 0.030 - 0.202 0.106 =
#F/bE (HCI) 0.756 0.096 - 0.269 0.174 s
wAbE (HF) 0.072 0.011 - 0.038 0.026 s
— &b (SO2) 3.789 1.987 - 2.729 2.294 =
—&Ei% (CO) 3.789 0.029 - 0.062 0.043 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.111 - 3.367 1.781 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0055 &
IR R g ) 7.575 x 10°° <6.085 x 1020 &
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Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.312 0.005 &
LA i 1.512 0.008 - 0.520 0.098 =
Z/LE (HCD 4,545 0.023 - 0.377 0.197 TE
mIbE (HF) 0.306 0.000 - 0.057 0.027 =
— &b (SO2) 15.147 0.181 - 4.360 2.175 =
—4&bi% (CO) 7.578 0.005 - 0.111 0.049 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.128 - 5.377 0.737 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.003 - 0.019 0.005 &
LA 0.756 0.038 - 0.192 0.098 =
/L4, (HCD 0.756 0.070 - 0.305 0.197 =
wAbE (HF) 0.072 0.006 - 0.044 0.027 =
— &b (SO2) 3.789 1.794 - 2.555 2.175 =
—&Ei% (CO) 3.789 0.032 - 0.069 0.049 g
HAY (NOx)
DL E/EE (NOY) 15.147 0.422 - 1.127 0.737 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575 x 107 <5.595 x 1020 &
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Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.001 - 0.020 0.003 &
LA i 1.512 0.008 - 0.571 0.101 =
/L4, (HCI) 4,545 0.042 - 0.153 0.088 =
mIbE (HF) 0.306 0.005 - 0.055 0.023 s
— &b (SO2) 15.147 0.018 - 6.000 1.828 =
—4& kbR (CO) 7.578 0.000 - 0.109 0.046 =
FALY) (NOx)
PL—&/EE (NO2) 30.303 0.560 - 5.254 1.306 =
EFE
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.001 - 0.008 0.003 &
LA 0.756 0.045 - 0.174 0.100 =
Z/LE (HCI) 0.756 0.069 - 0.115 0.089 s
wAbE (HF) 0.072 0.017 - 0.033 0.023 s
— &b (SO2) 3.789 1.336 - 2.108 1.828 =
—&Ei% (CO) 3.789 0.011 - 0.083 0.046 =
HAY (NOx)
DL=%AEE (NO2) 15.147 0.801 - 1.954 1.306 =
ETHE
28 HERPRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0058 &
IR R g ) 7.575x 107 <6.607 x 1010 =
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